
AIV（その２） リスニング・テスト 放送される英語の会話を聞いて、49～68

のそれぞれについて(A)～(D)のうちから最も適切な答えを一つ選び、A 解答紙の

その２（リスニング）に記入しなさい。問題は全部で 20 問です。(A), (B)の 2

種類に分かれていて、それぞれ 10 問あります。いずれの問題も一度しか聞くこ

とができません。問題を聞き終えたら、ただちに解答を記入しなさい。一問の

解答時間は約 10 秒です。問題冊子にメモを取るとよいでしょう。 

 

(A) Dialogs 1～10 (49～58)では、会話のあとに質問が続きますので、それに

対する最も適切な答えを選びなさい。 

 

Example Dialog 

 (A)  Because she is always late. 

 (B)  Because the movie will start soon. 

 (C)  Because the busy roads may delay them. 

 (D)  Because the man will not wait any longer. 

 

Dialog 1 

49. (A) It was too big.     (B) It was too dark. 

 (C) It was too expensive.    (D) It was too small. 

 

Dialog 2 

50. (A) 1:00.   (B) 1:45.   (C) 2:15.   (D) 2:30. 

 

Dialog 3 

51. (A) Its big parking area.    (B) Its café. 

(C) Its free Wi-Fi.     (D) Its selection of foreign books. 



 

Dialog 4 

52. (A) She should not ask her professor for an extension. 

(B) She should submit her report early. 

(C) She should be more organized. 

(D) She should get more sleep. 

 

Dialog 5 

53. (A) A special pillow. 

(B) A cooling sheet. 

(C) A fan. 

(D) An air conditioner. 

 

Dialog 6 

54. (A) Because the prices are too high.  (B) Because they ate there last week. 

(C) Because the food is bad.   (D) Because it gets crowded. 

 

Dialog 7 

55. (A) Take it to be fixed.    (B) Buy a new one at the airport. 

(C) Buy one from a camera store.  (D) Buy a new battery. 

 

 

 

 



Dialog 8 

56. (A) Because she wants to go there with her friend.  

(B) Because it’s the cheapest course she could find. 

(C) Because her teacher helped to organize it. 

(D) Because she wants to prepare for university study. 

 

Dialog 9 

57. (A) A bank book.     (B) A student ID card. 

(C) A driving licence.    (D) A passport. 

 

Dialog 10 

58. (A) 10:30.  (B) 11:45.  (C) 12:00.  (D) 12:15. 

 

(B) Passages 1～5 (59～68)では、英文(Passage)を聞いて、印刷された質問に

対する最も適切な答えを選びなさい。Passage にはそれぞれ質問が二つありま

す。例題はありません。 

 

Passage 1 

59. How many people is the man expecting to meet for dinner? 

(A) One.   (B) Two.   (C) Three.  (D) Four. 

60. When will the man leave Tokyo? 

(A) Saturday.  (B) Sunday.  (C) Monday.  (D) Tuesday. 

 

 



Passage 2 

61. What does Michael want for his birthday? 

(A) A soccer ball.     (B) An electric train set. 

(C) A baseball glove.    (D) A baseball cap. 

62. What will Michael get for his birthday? 

(A) An electric train set and a soccer ball. 

(B) An electric train set and a baseball glove. 

(C) A baseball glove and a soccer ball. 

(D) A baseball glove and a baseball cap. 

 

Passage 3 

63. How much snow had fallen by the end of the storm? 

(A) 22 inches.  (B) 24 inches.  (C) 26 inches.  (D) 30 inches. 

64. Which of the following are not currently in operation? 

(A) The airports.     (B) The trains.  

(C) The buses.      (D) The subway lines. 

 

Passage 4 

65. What is the man’s customer ID number? 

(A) G8463321. (B) G8446632. (C) G8463211. (D) G8466312. 

66. When will the man leave his apartment? 

(A) June 10th.  (B) June 12th.  (C) June 13th.  (D) June 24th. 

 

 



Passage 5 

67. What do the information kits NOT contain? 

(A) A colour poster of flowers and trees. 

(B) A membership card. 

(C) A booklet about plants and trees. 

(D) A map of where plants and trees grow. 

68. When can parents take part in activities? 

(A) Saturday mornings.    (B) Saturday afternoons. 

(C) Sunday mornings.    (D) Sunday afternoons. 

 

（以 下 余 白） 


